TRIGONOMETRY Name \« €\
Sections 4.1 to 4.3 )
WORKSHEET 1 )

Name the amplitude of each :

1) y = -3 Sin 2x

2) y=1Cos (x + &) J';
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Name the period for each :
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3) y = - Tan 2x ‘ fi <
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Name the vertical translation for each :
5) y=-1+8in (3x - 7) doon A
6) y =3 Sec (_x + 1) MNiunts
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e the phase shift for each :
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7Y y=2 - Tan (x - &) :
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8) y=1+4 Sin (x + 7) Ll 1
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Name the Maximum/Minimum for each :
9) y =3 Sin 4x . i \5 = '_3.
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10) y=5-3Cos (x + ) e o
11) y =2 - Tan (x - 7) S |, -0
Sketch each :
12) y = -4 sin x 13) y=-2 + 1 Cos x A
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16) y =2 Cos (x + 7) iy
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y = Sec (2x[\- ) U\-Se(l(x"ﬂ)

10
L |

2 cos
20)

¥y = 2 Cos (lx—zr) 2
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17) y =2 Tan (x - x) x'[;"_=_[7[.
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Y=2+48in (2x - 7)
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